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T (2.0 m? JAialows gl o Lagas 535 (600 N )58 (e il al) 1ok La

—
| Fia = Ppruia ¥V 8
How much pressure is exerted by a force of 600 N spread vertically over a 2.0 m? area? Fy= F,;—'
1
F=phg
Lt ?
. 2700 Pa
s 300 Pa
s 12000 I*a
ol 30 Pa
Yhaall iaeAuasiagiﬁqui
Which of the following is a correct unit of pressure?
i N.m? @]
2 kN 0]
3 N.m* O
4 N m! O

I el (Ao (45 N) 568 aladduls (1030 N)3@E S Guiall i gl A0 jaa Aad)
Thadlll J5¥) Gual) Aaluse La (080 m? ) Aadhll (U GusSall dalbuna ils 1)

A hydraulic piston is used to lift 1030 N using 45 N of force. If the platform supporting the
weight has an area of 0.80 m?, what is the area of the piston that force is applied t0?

F

E=a
Fiue = PrmwiaV 3
Fi= F.:—’I
P=phy
PV =_m_zr
1. 0.035 m? O
19.1 m? e
2
< 27.5m? (@]




SAaial) ddjs o g8 elall (B jsaiall puadl AN O3l 05 el sl &5Y) (o

Which principle explains why an object seems to weigh less when submerged in water?

Jleady fase
T O
Pascal's principle
di Q5B
Boyle’s Law o
A3 Ia
Bernoulli’s principle
uizad f Tpa
O

Archimedes’ principle

Osll aaa OIS 1) cslogll ada 898 cumnr Aot () g S o agaligh) Slas Tesbaa Uglhs JS5N gl
SO Ao elsgdl ada 368 L (1.3 kg/m®) slsedl B0y (0.18 kg/m®) agalgdl A8E<y (1.25 m® Jagiagd)

; ——
== J

Fouo. = PyriaV 4

A
T . FZ:F,A—:

P=phyg

PV =nRT
\ 4 | g=9.81m/s

In the figure a helium balloon rises because of the buoyant force of the air lifting it.
If the volume of the helium balloon is 1.25 m®, the density of helium is 0.18 kg/m?, and
the density of air is 1.3 kg/m?®, what is the buoyant force on the helium balloon?

11.6 N
116 N

1.6 N

O O O O

16 N
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Which of the following is not correct for fluids?

A gall Ga A &
1. they are materials.
dhol o hedsa oo
2. they can flow.
s g Lyl "
3 they have definite shape.
La i3kl g i Sl g Jil guall Jais o

4 they include liquids, gases, and plasmas.

la g (AS aile (a3 Bl Gluad (P = X g h) daladl) adaas
faslaal B X Sasd Jia il

The pressure exerted by a colummn of fluid on a body is given by equation:
P=Xgh
What does the symbol X represent in the equation?

alall Oy
the weight of the fluid. O
-pilall pas
O
the volume of the {luid.
slal) ages g lS)
@)
the height of the column of fluid.
CNsa s GIS 13 (1013 kPa ) s b xic (0.080m?) lgans (g il & (a dic
o g Al e Bl a da s La (3.0 mol ) (g i) die
PV =nRT
R = 8.31 Pa-m? /(mol-K)
Nitrogen gas at standard atmospheric pressure, 101.3 kPa, has a volume of 0.080 m*.
If there are 3.0 mol of the gas, what is the temperature of nitrogen gas?
325°C O
2 271°C O
3. 271K O
4 325K O




9 (2-1%107% M) lganay slsgll & (75 N) Baall Ojs G813 o oladl 8 Bdua Cipd
PR\l O3 gll) Bauall A Bijall Alaaaal) 55l jaka L
What is the net force {(apparent weight) on a rock submerged in water if
the rock weighs 75 N in air and has a volume of (2.1 10 * m %)?
Fo= F,‘;—f P= %
P—phg Frpuo = PrruiaV g
PV _nRT g = 9.81m/s*
Puater = 1.0 2 10% kg fm®
1 2.4N @)
2. 54 N O
3. 45 N O
% 24N O
10 PLajtll Laa G A9 (ol

Which of the following is not correct for plasma?

1. plasma is one of the states of matter.

2 plasma can conduct an electric current

3. plasma is a fluid
srlgsl) LSl Jeagi Lajsid)

4. plasma cannot conduct an electric current.

i) s o L

hgsll A Jag ¥ Lk

s on LB




Thermal energy

Which statement about two
objects in thermal equilibrium
1s not correct?

o Gl dsania Cuad 3351 Jaad)
eoba ol s

energy exchange between the

: : X | omemad) o o) BN S s
objects continues lo occur.
the net flow of energy between the v Gl Sy AL} A0SH A gh ad) 43UL)
objects is zero. Jka
the objects are at the same e P )

7| el Aul gl B ) yad! A2 j4

temperature, Z gl (a1 4 ghoedia 51 a1 A )3 s
there is a net flow of encrgy from W o Adoialh 45 ) o) ABUET) B puds da g

onc object to the other.

sy

r

W

O O O O

W

Y

happens because:

When a closed tin is heated, the
pressure inside it increases. This

JAl daazalt ahe 3 cdRla & 38 e fudld ale
LAl e Ly Ale )

on healing.

the number of molecules increases

X Ll Lo Adad) AN il adi sae A8

the molecules move fasler, and
they strike the inner walls of the

¥ 330 A b b jad) AS e As e a3
I Ada) s 43 sl

the molecules become heavier and
sirike the walls of the lin harder.

o A Al 5 gl 13 3 J el ) s

Addad) o

the molecules now collide more
with the walls of the tin than W

amongst themselves.

S S Adelt Jhaa aa i Sad) adbua sy
candl pianad e Laslucsi

O O O O




What happens when water at its
melting point solidifies to ice
without any change in
temperature?

adaii sio o) plall sk Ladie Saay Vs
Ao 8 b it gl (gt el ) ssand
?3_;‘)3.“

An amount of energy equal to the

latent heat is absorbed.

latent heat is emitted. X R R Ve
An amount of energy equal to the v Ae gl 8 Al g ghad Al a A Cani
specific heat is emitted shall
An amount of energy equal to the 7 AN G Al g g la Al paias

An amount of energy equal to the
sum of both latent heat and W
specific Licat are emitted.

5 adl g gana (g gt & )3 BBl Zals
slall & gilk ) jad) g Aol

W

O O O O

The melting point of a solid is
90.0°C. What is the heal required
to change 2.5 kg of this solid at
40.0°C to a liquid?
Hint: The specific heat of the solid is
{390 J/kg.C) and ils heat of fusion is

e L (90°C Wylguail da s L Bika
o (4a 2.5 Kg ALl dally 4 jlat) 45U
Palils a8 zuall 40°C 4,y Sala)
ol Lake

Balall e g2ll Bladt (390 Jfkg.C)

(4000 J/kg).

Blall jlgat 5la (4000 Jikg)

4.9 x 104 ]

1.0 x 104 J

5.9 x104J

5.0 x10°J

T, 4273 = T}
@ = mCAT = mC(T; —T;)




Which of the following temperatures

(OC A ) A1 5 ) adl i (e 5

(in °C) is equivalent to 312 K? £312 K a8 ;A
21°C b, 4
- 312 °C
399C 7,
585 °C W
Te + 274 = -IJ-_
= mt4dr = mC [Ty =T;)
Q= nly
) = inhy
Al =0 =}

A solid is heated at a constant
rate until it reaches the vapor
state. The temperature of the

s ) a1 gl
sabad (a3 95 1Al da
il Jia i Ada

substance changes with time as c A Gl .
shown in the graph. Which part Jiad ) Aadalh g 3 5)
of the graph indicate that the A = Adad) 2 5aal)

substance exists in solid-liquid? (s + 2l
BC X
cD Y
DE VA
EF W

W

O||O||O| O




Which of the following represents is o A ;}o‘:’-t 2 )t ALk ) | ey 13La
energy transfer caused by motion Ao clibZA) o daclill g sakal) <l
of particles of the system? 50 )
conduction X S gal)
radiation Y glazyl
convection Z Jaadi
specific heat W A gl 5 ) adt
ki O
% O
& O
W (o)
Depending on the diagram in Lilks e 3 kil g
the figure for a system of & .
a heat engine. What is the Cg s A i
gine. : Qr ALl \aha La
amount of Qg?
800 J X
2007 Y
T00 J Z
100 J W

Tp + 273 = Ty

0 = mCar = m¢ (T — 1)

= Jm'f;

Al =0 — W




A 2.15 ke block ol aluminum
{specilic heat =897 J/kg'K) is al an
nitial temperature ol 300 K.
What will its {inal temperature be il
(3.35 x 107 J)of thermal energy are

A galalyl 5aba (e 2,15 Kg 4ALS caasa
(897 Jkg K = 4= gl 5,1 jadly
300K 43,1 da )4y
inal] Sabal Auiledl 5 ) adi da ja La
LﬁJlfHLﬁ)iPE&f 3] !:'Il

M=0-W

added? ?(3.35x 107 )
474 K X
174 K Y
803 K 7
447 K W
Te + 273 = T,
0 = 'mfAT = mC (T =T
U= ."||'.'I
{ = mli

10

Thermodynamic values for waler:
Heat of fusion ~ 3.34 x 10° I’kg

Heat of vaporization = 2.26 = 10° T'kg
Specific Heat = 4180 kg K

Which type of change requires the

most energy for the 1 kg of water?

splall TN 2l o Jalaie)
334 x 10° Tkg  Jleai¥18 ) a
2.26 x 10° kg all 8 ys
4180 Jkg K 4 slls )l sl
glall (3a 1.0 kg st Ay @l padl) s
fana &) i) (b Ao Al L Sl

changing temperature by 1 K

salall plau = 1K JhEas 3 ) sadi Aa kS

while in the same state. ~ Adlad) | bl “,ﬁ
changing temperature by 100K v plEs aa 100 K _iay 3 ) At da ja pad
while in the same state. Adlad) il A 3kl
vaporizing [rom liquid into a gas -y | [P P T
al the same lemperature. Z | SAd Rt ol g S i} dsad
melting from ice into liquid water | . Ao el o Jlapla () Al G jlpal)
at the same temperature. Bl
Te + 273 = Ty
(= mCATl = mC (Tr = 7T;)
@ = mH
Q = mHy

Al =0 —W




